exp (y¢) = exp (cary) + exp (1)
(1—a)b(1—n)exp((—Ct) e+ecuy —hmy) = (1-b) exp((—it))
ab (1—7) (1—0) exp(y: + (—=Ct) e+ cary (e — 1) — hagy) = (1 —b) exp ((—lt))
Bexp (e (—Cit1)) (a (1—8m) exp (e — 1) earps1) + (1 —a) nexp (ecmpss — ky)) = aX exp ((—Ch) e+ eary (e — 1))
Bexp (e (—Cos1) + (e = 1) earyqr) (1+exp (reg1) (1 —7k) + 7k 6ar — 6a1) = A exp ((—Ct) e + cary (e — 1))
0 exp (ye — knry—1) = exp (re)
(1 —0) exp (yt — hary) = exp (we)
exp (ye) = exp (O kare—1 + (1= 0) (hary + 2014))
exp (Ct) = (a exp (eary €) + (1 — a) exp (ecny))*
exp (It) = 1 — exp (hpy) — exp (hasy)
oxp (cre) = exp (kw1 + (1 —=n) (hmy + 2my))
exp (zary) = A exp (karg) — (1= 6ar) exp (kar—1)
exp (€)= A exp (ky) — (1 — 6p) exp (kmy_1)
exp (1) = exp (Tar¢) + exp (Try)
exp (ki) = exp (knry) + exp (krr¢)
exp (Ty) = 11, exp (hasy +we) + 7 exp (karg_q +7¢) — 7% 6ar exp (kary_1)
ZM¢t = PM ZMt—1 T €Mt

ZHt = PH ZHt—1 t €Hy



